SETARTE S—HETEAE  HHf - 93.02.16

& 4-456 218 | HIK

o4

B | gy 2R - TEX |FE5R

=

— BE—EEE (5& 8 )

1~ (A)]%y =ax’ +bx+cV [P o P S iy 2
1 1
(A)Za+§b+c<0 (B)b>0 (C)a<0 (D)b?-4ac=0 . o >
(-1,0) (1,0)

(E)4da—-2b+c<0-
AR (A)

SR g[[ﬁlipy:ax2+bx+c?%’!ﬂ0,k) r k<

1 1 1
A X==—=Yy=—a+—
(A) > y 4a+2b+c<0

(B)FIF il Fa>0 :
VI _
(C)Ffx=--=0=b=0

(D)IR7/= X Wb F Ry b® — 4ac > 0
(E)x=2=y=4a-2b+c>0°

y

0

2-(C) ?avﬁy7?@x3+x2—4x+5:0F'5J_: D | N (T T
(Aa+pB+y=-1 B) afp+pr+ya=-4 (C) afy=5 D) a’*+p>+y*=9

EB) a®+p*+y*=-28 -
1 (C)

*
L R (L

4

TH P

a+bx+ex+d=0=FfUh e, By =

(1)0c+[3+y=—E
a
(2)aﬁ+By+ya=§

@upr=-2

Qo+p+y=-1
(AB)O) x* +x2 —4x+5=0=>1(2)op+Py+ya=—4
(Fapy=-5
(D)o’ +p* +7° = (o +B+7)* = 2(af+ Py +ya) = (-1)* —2(-4) =9
By’ + 2 +y =(a+p+y)la’ + B +y* —(af + Py +ye)]+3apy
=(-D[9—(-4)]+3-(-5)=-28

3~ (A) WA _ax®+7x2 —x+11=07t (A) -3= -2V} (B) —2% -1V
(C) 1= 0.V (D)O= 1 V[ (B)1Z 2. Vi e

AE 5 (A)

£1H



AT F%f(x):x5—4x3+7x2—x+1l

R TE AR S R
—3 +5 —8 +23|—58| —3
—2 +0 +7 —15|+4+41| —2
—1 —3 +10 —11|+22| —1
+0 —4 +7 —1]+11 0
+1 —3 +4 +3 |+14| 1
+2 +0 +7 +13|+37| 2
frEe fin e AL

4-~(B) MFH- E “’ifgjﬁ%ﬁ?l;rﬁfj% ? (A) x*+6x+10<0
B) x*+2x<-1 (C) —x*+8x>16 (D) —x*+3x-5>0 (BE) —2x*+x>50

FAT%:(B)
HEFT 1 (A)67 —4x1x10=-4<0= x* +6x+10> 0¥ > x2 4 6x +10 < 05

(B) x*+2x<-1=(x+1)*<0 R x=—-1

(C) —x*+8x>16= x> -8x+16 <0 = (x—4)* <07 %

(D) —x®+3x-5>0=x*-3x+5<0 * v x*=3x+5>0v"F = x* -3x+5< 0%

(E) —2x2 +X>5=2X%—x+5<0 » -+ 2x? —x+5>0[ YT = 2x% - x+5< 0 5

e e

5+ (D) P EF (x—1)(x-2)°(x-3)* 2 0.V i (A) x23@22x21 (B) x23fx<1
(C) 1<x<3 (D) x=3fix=2x<1 (E) 32x>2fx<1le

Ffiﬁt*(D)

T (x=D(x-2)*(x=3)* 20= (x-1)(x-2)*(x-3) 2 0=>x<1HY x =3 x=2

. f(x)t'w *3M|,T§1\f’ e QR -)=4i-7 5 [ f(2+1) = o

Ejéff’T f(z)= T@)= fQR+i)=f@-1)=f(2-i)=4i—T=-4i—7

22 A(X) =X +(@+D)x+2 @ eR > F R T(0 =0 - T~ ik 1% 0 VR » i £
T 27 3 VI a o £ °

A

.. 4
ﬁ : 0<a<§
R -1 0 V= f(-1)f(0)<0 - 4]
(-1-a-1+2)(-0+0+2)<0=>-a<0=a>0....0
bl 2= 3 Vill= f(2)F(3) <0 » [

(—4+2a+2+2)(—9+3a+3+2)<O:>a(3a—4)<0:0<a<% .......... @

E[[.®®%ﬂ0<a<%

£2H



= ﬁrﬂgry =5-(2x-1(x-2) F[fjﬁ[y]’@ ;T X = Eﬁ Yy = £ (i
I'Ti'ﬁ”ﬁ ‘I fifr)
hES :> y——ﬁ*
EJ@T’T :
y=5-(2x-1)(x-2) = y=-2x> +5x+3=—2(x—%)2 +A;9

5 49
» when x=—=>y=—13E"
2 y g b

4~ F Ry = £ =ax’ +2bX+E X =1FF 1l 5 87 @) = v
FAT# (-1,1);(-4,4)
ATy = f(x)=ax? +2bx+% X =1FEH N 5
y=a(x-1)’+5= y=ax’-2ax+a+5
2b=-2a
=14 =a’+5a+4=0=(a+)(a+4)=0=>a=-1-4
B:a+5

a=-1-4
:,{ - o (ab)=(-11); (-4 4)

5- r%y X2 —2x— 5%y =2Xx— 1ﬁwﬁ%ﬁ[ﬁ/ﬁ\f/\AB[ﬁgﬁ HIAB /= 1h

REREN
— 2_ _
AT { =Xt -2 5:>x2—2x—5:2x—1:>x2—4x—4:0
y=2x-1
X, +X,=4
Xl.X2:—4
R L RIAGG Y1) BOG, Yo ) o HIXG X B X —ax—4 =0 L ey =2x -1
Y, =2%,-1
yl_y2=2(X1_X2)

= AB = /(X —5,)% + (¥, — ¥,)? = B(X, —X,)7 = /B[(% +%,)* —4x,]

= 547 - 4(-4)] = 410

6~ EJZiT =l (1))( +X—-6<0 > JEIEJZ:&E', )
(2)2x* —3x+2<0 » H iy ’
(3)2x* +x—2>0 > E ity '
(4)6x° +7x* —9x+2>0 > El ity

—1+J1_7_X<—1—J1_7
4 T 4

FATiat’ F(1)-8<x<2 (2 () x> (4)—2<x<%ﬁ9x>%
BT

£3H



(1) X¥*+x-6<0=(x-2)(x+3)<0=>-3<x<?2
(2) D=(-3)°-4x2x2=-7<0=2x*-3x+2>01¥551 > 2x*-3x+2<0 %

— i [ — —
(B) 2x¥*+x-2=0=>x= LEy1=4x2x(22)

4
~1+\17 X<—1—\/ﬁ
S XS

4
(4)6X° + 75 —9x+2 > 0= (X+ 2)(2X-1)(3X~1) > 0= —2<x<%ﬁ9x>%

2X°+Xx-2>0=> x>

X2 —3x+2

7~ B
1 X2 +5x+4

>1 0 EEEEY °

%

1
% _l<X<——FYx<—-4
E 45 <

-

2 _ 2 _ 2 (2
i - w>13 x2 3x+2_1>0:>(x 3x+22) (x +5x+4)>0

X°+5x+4 X“+5x+4 X2 +5X+4

—8x-2 0 4x+1

——>0=>—F——<
X“+5x+4 (x+D(x+4)

= @x+D(x+D)(x+4) <0 ' (x+D)(x+4)#=0=> -1< x<—%ﬁ9x<—4

sTHREE (B8 10 )
 F BRI [VF) ax® +3x+(a+4) <0 [IHEE a UL ?
Y Lai

P G 19 a4 3+ (a+4) <0= {

= =

a<o0
3’ -4a(a+4)<0

1 9

F -4a(a+4)<0=4a’+16a-9>0= (2a-1)(2a+9) >0 =a>-i a<—
9
La<-—
2

2~ TR R L{VT Y ABCD U= % AB, BC, Efﬁ?w FiP, QR - il
2AP =2BQ =CR - Ztif* APQR fiufsh | /A A b
AT F%zﬁ:z%:ﬁﬂx:ﬁ:%:x,ﬁ:zx
BP=1-x,CQ=1-x,DR=1-2x
APQR = [~7% ABCD [ 17 ~APBQ — APCQ - #2/"%} APRD [/

2 1 1 X+ (1-2x)

3 1, 1 .. 1 1.
—2(x=2)2+= » Hdix==, APQR = = i |
2( 3) 3 FJ' 3 Q 3 =l

3~ SR (S R R A A A -1 VaEE2—iag s e I A

o

£ 4H



BT
x=-1+3= (x+1)?=(3)? = x> +2x-2=0
X=2-i=(x-2)"=()> = x*-4x+5=0
(X=D(x* +2x-2)(x* —4x+5)=0

£5H



